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Time : 3 Hours | [ Maximum Marks : 300
INSTRUCTIONS
Each question is printed both in English and in Kannada.
Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket (ssued to you, which must
be stated clearly on the cover of the answer book in the spuce
provided for this purpose. No credit will be given for the
ansieers written in @ medium other than that specified in the
Admission Ticket. In case of any doubt in the Kannada text,
please refer to English text.
This paper has four parts :
A 20 marks
B 100 marks
C 90 marks
D 90 marks
Marks allotted to each question are indicated in each part.
All questions in Part A, Part B and Part C are compulsory.
Answer any three questions in Part D.
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PART A 1x5=20

Answer each question in about 50 words. Each gquestion carrivs 5 marks.

{a)

{b)

ic)

What are RNA and DNA viruses 7 Indicate which of the following
arc RNA and DNA viruses : Tobacco mosaic virus, Bacteriophages,
Retrovirus,

Give the =zoological names for any three nematodes that causc
diseases in plants, Indicate the most important feature of the galls
caused by root knot nematodes.

Distinguish, with the help of diagrams, tinsel and whiplash types of
flagella, Draw a labelled diagram for the transverse scction of a
whiplash flagellum.

Define ‘Sap wood” and ‘Heart wood’ and l!ist any four major
differences between them.
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PART B 10x10=100

Answer each question in about 100 words. Each question carries
10 marks.

1. Write an account of nutrition in Bacteria.

2. List the major microbial groups associated with rhizosphere that have a
symbiotic association with roots. What benefits do they provide to the
host plant 7

3. State and explain Koch’s postulates.

4. Chlorosis is a symptom that can be caused by deficiency of some mineral
elements as well as by some viruses. How will you proceed to identify

whether the causative agent of chlorosis is a mineral or a virus 7

5. List any ten features that are used in classifying Algac into major
classes.

6. What are the major types of fruit bodies in Ascomyccetous fungi ?

7. Define ‘Incompatibility’. Classify incompatibility. Explain how the stigma
and style control incompatibility reactions.

8. Explain the importance of Palynology in stratigraphy and oil exploration.
9. Distinguish ‘differentiation’, ‘de-differentiation’ and ‘re-differentiation’,

giving suitable examples. Explain their importance in cell morphogenesis.

10. State and explain Turing’s Diffusion Reaction Theory of morphogenesis.
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3.

PART C 6x15=90

Answer each question in  about 150 words. FKach question carries
15 marks.

What are ‘plasmids’ ? Where are they located ? How are they important
to the organism which possesses them ? What is their importance in
Biotechnology 7

Write an account of fungal toxins.

Argue for and against the Bryophytic origin of Pteridephytes.

Explain the importance of Solanaceae as a source of medicines and
vepetables,

Distinguish true and false polyembryony, giving examples, How will you
promote polyembryony experimentally ?

What is meant by Parasexual hybridization’ ? List the major problems in
parascxual hybridization. How will you overcome them ?



031
90

ox15

won C
0 TS o

{S

S5 BTN

It
s

NN N
. .."kai

..,w.” ﬁw o.ﬂ o ;
m = 9] am
& |w _mw .H..w _..nw:w
a.va\ ¢ .ﬁ..%l
23 &« & W
. E 5w
) |8} J Q3
m ~ Hun.w M.mu .n..u
3o A

Eﬁ”u ':'
g3
ovnlefed
o

] 553,
THn

Ot

i,
—ia,
B
0
s b

i} <
o ¢ 5 o
ST I
I “ra :
g 13 o B2

c

@}

-

S

ve g
Eat
&

ey : ¢ @ 3]
AR B = YRS
By D S %) 5
E_J hm? e Jﬁw 3
b B B :
%m w8 = a Tr
0 (B Q3 : m.., s
) 2 @ mm mw 3)
wnw i ¥ _M ¢ ._."uv Mm@
Y ._WWU ,W\ [EAE: d @)
- .ﬁ ‘ 3y Tp .
T B ¥ d
T ¥ ﬁw 3.1 +8)] w
S i _mw _.\W..U 3 _,w ﬂw
%S - V=
5 3 ‘. & & .w B’
. £y T n,qw ey - «
: mw ) SR E: ik 3
4 e &ea
[ 3 13

€ R R

e - .ﬁ oF )

B ow o EB

A G S SR SR L

0 b &3 3 4 I
—_ ] o & v

[Turn over

Hybridization)

A Zen
(Parasexual

Agee

T
“

2 05R

)
—

et

=

a o
~ S
(9]

Gaoert

Jm

—~
-

nY
G
.
‘c"_.'r’\n-:_.

\
et

et
S

6.



031 {8 )

PART D 3x30=80

Answer any three of the following questions, each in about 300 words.
Each question carries 30 marks.

1. Discuss the importance of bacteria in water pollution.

9. Write an account of dissemination and control of plant diseases.
3, Write an essay on the ultra-structure of pollen.

4. Discuss the floral variation in Orchidaceae.

5. Explain the terms organogenesis and somatic embryogenesis. Describe the
pathways of pollen androgenesis under culture.
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Paper 2

Tire : 3 Hours | | Maximum Marks @ 300

INSTRUCTIONS

Each question is printed both in English and in Kannada.

Ansieers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stuted clearly on the cover of the answer book in the space
provided for this purpose. No credit will be given for the
answers written in a medium other than that specified in the
Admission Ticket. In case of any doubt in the Kannada text,

please refer to English text.

This paper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part,

All questions in Part A, Part B and Part CC are compulsory.
Answer any three questions in Part D,
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PART A 4x5=20

Answer each question in about 50 words, Each question carries 5 marks.

ta)  Explain the term ‘resolving power with reference to the light
microscope. Why ihe light microscope cannot magnify an object
bevond a certain extent 7

ib})  Mention the different types of RNA, their location in the cell and
their function.

te}  With one example for each, distinguish a ‘trace element’ from a
‘tracer element’. Mention the use of the latter in understanding
plant metabolic pathways,

(d) Define and explain the term ‘homeostasis’ in the context of an
ecosystem.
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PART B 10x10=100

Answer each question in about 100 words. Each question carries
10 marks.

1. Discuss the importance of actin tilaments, tubulins and cyclins in cell
divisions.

2. What do you mean by ‘heterochromatic’ and ‘euchromatic’ regions of a
chromosome ? In what ways do they differ from one another ?

3. State and explain the ‘One gene — One enzyme’ hypothesis.

4. Distinguish genetic and cytoplasmic male sterility. Can you induce male
sterility and if so, how ?

5. What is meant by ‘photolytic splitting’ of water ? How is it effected 7
What is its importance in photosynthesis ?

6. Distinguish ‘food chain’ and ‘food web’. Relate these to different trophic
levels in an ecosystem.

7. Define ‘Phosphorylation’. Distinguish photophosphorylation and oxidative
phosphorylation. What will happen if phosphorylation does not occur
during photosynthesis and respiration ?

8. Write an account of the dry evergreen forests of India with special
reference to their distribution and physiognomy.

9. In what respects do gums differ from resins ? Write briefly on any five
sources of commercially obtainable resins.

10. Write an account of the ‘indicator’ concept. Write briefly on air pollution
indicators.
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PART C 6x15=90
Answer  each  question in about 150 words. Each question carries

15 marks.

1. Distinguish ‘polyploidy’ and ‘polyteny’. How will you identify polyploidal
and polyteni¢ nuclei; ? Under what conditions does a nucleus become
polytenic ?

2. How is sex determined in dioecious plants ? Explain the relative roles of
sex determination and sex differentiation in sex expression in plants,

3. ‘Transpiration is gz necessary evil” — Discuss. In what respects does
transpiration differ from evaporation and guttation ?

4. Justify the statement - ‘Fruit ripening is an instance of senescence’.

5. Explain the terms ‘in situ’ and ‘ex situ’ tonservation. Which one is better
to conserve an endangered plant species and why ?

6. Discuss the importance of xylary and extra-xylary fibres as sources of
commercial fibres used in textiles and cordage.
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PART D 3Ix30=90

Answer any three of the following questions, each in about 300 words.
Each question carries 30 marks.

1. Discuss the importance of squash, smear and staining techniques in
understanding chromosomes.

9. Trace the history of the modern concept of the gene.

3. Describe the physiological and biochemical mechanisms of biotic and
abiotic stress tolerance in plants.

4. Write in detail on the mangrove forests of India. Discuss their importance
in Tsunami control.

5. Write an essay on the commercial hardwood timbers of South India.
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